PIHEEBA

ek - 8r8

B :
Y1LE T A I8 7 o M R FIEYR (75

2011 % 4F[ 21 F!

S T PR ( (PR ) 2T 13.25A [T B 14

(TR —— EI3 7 Jf RO ¥ S B )
R P & R I R H (TR AR

YLE Ty = Jafp Ty FHEEE (L7l F)) 23 10.08(4) @) f&7 5 il » A7 <1 gl e

EEF ¢ D010 WA POYEL

P 4

LT E ffﬁ

_u =1L =L P S PRy S 5 TR ] f
38 R I PEMREEN = o F ! _HIEHJ
Eonn ! rﬁi?ﬁﬂiw Eieh P R (1)
770 5 BRI o
2 FiT 250,644,135
011 47[ 20!
#2011 5 4F] 21 [R5 90,000 0.036% VA 2,52 HiA 13.46 81.27 % fik
%@*ﬁ%ﬁﬁﬁﬁ%@ 90,000 0.036% Jeﬂ a¢mn§4fzwl 54.16%647 %
‘W@”mm@7l22 90,000 0.036% %Mim VIS ) 86,9206}
El)’%};@lp [[7[:
mmﬁlﬁaﬁ@@
#3)




PR A ]

)

PGSR | 500141
(3 8) HJ; 50,914,135
011 = 4] 21}

R

1 597 /5’7/ '/5%’5“5}— /'[5’—5/%“52?/‘?/;75 I 557%/97555*[/@3%52@’;/?7 °

2. Z@fﬁf?ﬁ (L7l #FR) 23 132N [T)jgps t— [ T ) 1P PR (LR 23 13258 [T - ) B (TR ) RS

3. %ﬁ?[/ﬂ/ﬁ/?f/ B (Fyl ) 57 13.25A [RPL o=/ gt /= e 1 #dgrs - ﬁﬁ/f/%/ﬂf/j@‘ﬁ[ IR o & [FOETH PR P > AR T ELER o T R AR
P9 T JEEE A 75‘//;"{/%’?75’[/ o FIT [N SRR e H I A R IR R R [ RIARE ALy e R S 'Jﬁ-f%ﬁffﬁ v
= TR FaE - ST PRI R ) R R T e T O 7 Y B T -

4. R ETIRT R TIERRPTE LT FR RI F * E  EEE RAE E YF T a E pE
FPIL[PIEL)) - R F AT LD A Tyt LR 75 T BEIR [ -

5. /e IR S R (e S e e Sl S S e BTl

6. YD
TR T R
S TSR B T Y 1 AT T T B E 7 R P

7. YHeIELT -
v IR R T R
P73 AL L ATl I e AR e b e " S LT [ R B R Ry < SR L
» YRR R TS

8. s | TR £ 43 i~ 2 i Iff ’/%5/5//'7“?7‘7[ I -



A

A R

epp RS UNES LR R
() RRE D )

Tl

fiH
B. PIEI pAFREL 5T 7] B9AvaE 5 0 okl poevp]

Lo RE PSS (PR ) T B R ol

2 FOPRFRREE L BRI S (7 PR R 9 I 1)
L

((a) x100)
=13 A

HED

o
(%)
T

(@

%

R (o iR

=5 (M= - B ARIEATE e LA OIS USRS CH] D pOSIEE - il = e e pAfr

P
= (g A o 25 PP T AT bl R BSOS A » RS | e BhrE Rt S -

I ;‘7’/&%’”}'@%’ ; ﬁ/jﬁfﬂ%@ﬁ“ F O RTT bh~ FTH (T BTG - SIE A L EEY ) 2 FrE ) A



()
(‘iﬁJ%i’*%:
R
(HEEN Rl e &
G pefipy - F—II)

5 A



